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NOTES: SYSTEMS OF LINEAR INEQUALITIES

‘ SOLUTIONS OF SYSTEMS OF LINEAR INEQUALITIES

A of linear inequalities is a set of two or more inequalities with two
or more

of systems of linear inequalities are any ordered pair that
satisfies both inequalities (makes both inequalities true).

Tell whether each ordered pair is a solution of the system of linear inequalities.

xX=5 2x —y <4
-8): 2. ;
1. (6, -8); {y<_§x+2 (3, 8); {y<_x+3

‘ GRAPHING SYSTEMS OF LINEAR INEQUALITIES

When graphing a system of linear inequalities, we will graph both linear inequalities on the
same coordinate plane. The solution set is the overlapping shaded region!

Sleps lo Graph: WP@: glb

y>3x-1

Convert each inequality to slope-intercept y<-2x+4

form (solve for y) and graph BOTH lines on
the same coordinate plane.

Boundary Lines and Shading:

Solid line for > and < ) '
Line
Dolled line for > and <
Shode above (or > and >
Shading v

Shade below for < and < E
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Graph the system of linear inequalities on the coordinate plane provided. Then determine if
the ordered pairs given are solutions to the system. Circle yes or no.

3.
y<—4x+4
Solution? Solulion? Solution?
(-2’ 1) (31 2) (2’ _4)
yos o  Solion? oo Solwion? oo g
(10, -3) (-2a -6)
yes  nNo yes  nNO
xX—y>2
4. {Bx +y=6
Solulion? Solulion? Solulion?
(2,0) (-3, 5) (4, -1)
yes o Solulion? yes  no Solulion? 4es  no
(5, 1) 9,7)
Yyes  no yes  nNO
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A.  SYSTEMS OF LINEAR INEQUALITIES

Graph the system of linear inequalities on the coordinate plane provided. Then determine if the
ordered pair given is a solution to the system. Circle yes or no.

Ly —-X+6
. y<i4x+3
Solulion?
(1’ '3)
yes NO
2 1Y < gx + 4
y=3x—3
Solulion?
(1,0)
Yyes  nNO
y>x+6
lx—y>2
Solulion?
(4,2)
yes NO




‘|

2x+y<4
3x —4y = —16

Solution?
(-5, 4)
Yo  nO
x—1<2
3. {y >4
Solulion?
(-2, 6)
Yyes  NO
6 2y < 6x + 16
13x<y+9
Solulion?
(4, -2)

Yyes  NO




